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D”PZi MwYZ (m„Rbkxj) 

Aš̂q I dvskb 

Aa¨vq- 8 

g‡Wj--02 

 (1)  f(x) = x
2
 + 2x +1 Ges g(x) = 2x – 3   `ywU dvskb  | 

(K) g(f(x)) Gi gvb †ei Ki | 

(L) g
-1

(4) we`¨gvb _vK‡j  wbY©q Ki | 

(M) f(g(x)) = -1 n‡j  x Gi gvb †ei Ki | 

(2) A = {1,2,3,4,5} Ges B = {1,2,3,4,5,6} ‡hLv‡b f:A   dvskbwU 

Øviv f(x) = x + 1 msÁvwqZ | 

(K) A×B wbY©q Ki | 

(L) †`LvI †h dvskbwU mvwe©K bq | 

(M) g(x )= x
2
 – 2  n‡j f(g(x)) Ges g(f(2)) Gi gvb wbY©q Ki | 

(3) A= R – {3} Ges B = R – { 1}, f: A   B †hLv‡b  

f(x) = 
   

    
  Øviv msÁvwqZ | 

(K) cÖgvb Ki †h GwU GKwU GK GK dvskb | 

(L) GwU mvwe©K wKbv †`LvI | 

(M) g(x) = x
2
  n‡j  f(g(x)) Ges g(f(3)) Gi gvb †ei Ki | 

 


